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B. A. (General) EXAMINATION
(For Batch 2017 & Onwards)
(Fifth Semester)
HISTORY

History of Modern Europe

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all, selecting one

_ question from each Unit. Unit V Q. No. 11

(objective type questions) is compuléory. All
questions carry equal marks, Blind candidates

may attempt any other question in lieu of map

question. If they wish to attempt the map
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question the explanatory note will carry full 5. Write a DOte. on Continental Syst f
stem o

g ' ' ‘ Napoleon. 1
_ 6

Unit I 6. Critically examine motive, main provisions and

significance of the Treaty of

1. What do you understand by Renaissance ? Vienna. 16

Examine the main causes and effects of Unit 111

Renaissance. 16

7. Examine the respective contribution of Cavour,

2. Give a brief account of the Agrarian Revolution

Mazzini and Garibaldi in the Unification of

in Western Europe. What were the main Ttaly,

* changes effected by this revolution ? 16 16

. Describe the circums i .
tances lead

3. Examine in detail the causes and effects of - e

Revolution of 1688 in England, why

Industrial Revolution in Europe. » 'Glori o
Glorious' Revolution ? 16
Unit I1 9
. Evaluate the causes, events and Impacts of
g sy i et R, 16 Russian Revolution 1917. 16
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Unit IV

10. On the Outline map of Europe, show the
countries of Agriculture Revolution in Europe.

Also write an explanatory note.
Or

On the outline map of Europe, show the
unification of Italy and also write an

explanatory note on it. - 10+6=16
Unit V
(Objective Type Questions)

11. (a) Give the answer of any fthree of the
following : 3x2=6
(i) Who invented the first Printing

press ? 7
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(b)

(i) Which country did Martin Luther
belong to ?

(iii) In which Country did the Industrial
Revolution first take place ?

(iv) When did the 'Glorious Revolution’
occur in England ?

(v) Who was known as the sword of
Italian unification ?

(vi) The leader of the Bolsheviks

Choose the correct answers of the
féllowing MCQs : 1x5=5 |
() What is the literal meaning of
Renaissance ?
(1) Started again

(2) Wake upagain
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(i)

(3) Go again
(4) Sleep again
When did Turkish capture the

Constantinople '?

(1) 1500 AD.

(iii)

(2) 1492 AD.

(3) 1498 AD.

4) 1453 AD.

When did 'Glorious Revolution' take
place in England ?

(1) 1215 AD.

(2) 1789 AD.

(3) 1776 A.D.

(4) 1688 AD.

(iv) Who discovered America ?
(1) Columbus
(2) Vasco Da Gama
(3) Prince Henery

(4) None of the above

first industrial revolution

place ?
A
(2) Italy
(3) Germany

(4) England

7(3-55!21)3—5680 | 7

(v) In  which country did the

take
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(¢) Match the following : 155 ¥ I

A B
(@) Bism;:rck (1) Ttaly . oo 4 s ®&n ow e & 2
(ii) Cavour (2) England TR &% q&d FRON 9 u9El H gdew
(iii) Napoleon (3) Austria Fifew | 16
(iv) James II (4) Germany

2. fedt [ A PN wfa W wfra frao
(v) Metternich (5) France

. difsa |'mmﬁumﬁag@qﬁaﬂ=rw.
(Hindi Version) : ; : 16

%zmmﬁ'ﬁqmm;ﬁaﬁ . o
iﬁﬁawﬁtﬁmﬁmlmﬁ 3. U # ieifis Wil & FRON & wwE @

T F. 1 (TS y1) e & g faar & wiaw Fifsw 16
wa’fa#m‘mmm%‘lﬁiéaqﬂmeﬁwﬁﬁm
RALUETR GRS CR ST Ge—— FTS 11
TR ¥ | AR A A @ et weg

' WH 4. Wi F wfa W Fey fofaw | 16
%‘,a’rmmf‘zmﬁa%tﬁafmﬁaﬁﬁl '

B-5680 8 (3-55/22)B-5680 9 P.T.O.




S T W Tergig e W t{aa‘ﬁu;uﬁ T IV

16#0.@#1@%&3??{011?{?&%

.é.ﬁwqﬁqﬁ,gm,ﬂ@- %ﬁg@aﬁa’faﬁm|@m

feooit st fafam |

Agar

T & ¥ A W et @ wwEww )
WY 3R W W AreawE fuit
fafeg | - 10+6=16

THE V
(agfrs uy)

1. (&) frafafes & @ f5df 7w 3 s

Sifse - 3x2=6

() v T v w1 snfysr frad
e o 2
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(ii)uﬁﬁ.qmm%mﬁﬁ? R
(iii) shaifer wifa we@ vt fre <@ il e
s (i) TH I FEGFE | Fw iR
(iv) $dc # tieweh Wi F9 T g
- (1). 1500 <.
©) P @ awEm s
w2 (3) 1498 %
(vi) WfE BT oA 2 (4) 1453 £
(7) freffen agfmeda vl 7 3 (i) ¥¥s ¥ ‘vt whR ww
H HEH HIC Jx5ml B ?
() TR & owies o e (1) 1215 &
(1) i ¥ x& F (2) 1789 .
(2) fw | s (3) 1776 %.
(4) 1688 %
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(iv) smifar =t @9 f&d =% 2 (m) fr=afafaa +1 98 faem sifsw @ 1x5=5

(1) ier=rg F ‘o1’ ‘T’
(2) ar=R-fe-mm (i) faom= (1) =it
(3) fim 2@ (i) R (2) Iwive

@) 39w X XA (iii) ferart (3) sifezn
(v) w98 Tew i wifw frg 2w

§ g2

(iv) Sg-II (4) R
(v) H=frE (5) wid

W) W
(2) we=it
(3) R

4) s
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